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QUESTION 1

Which two products or methods can be used for disaster recovery when using IBM Netezza Performance Servers? 

A. Cloud Pak for Data 

B. InfoSphere Data Replication 

C. Netezza Replication Services 

D. Data Serialization 

E. NPS Backup and Restore 

Correct Answer: BE 

 

QUESTION 2

What are two important factors to consider when selecting a distribution key? 

A. not Nullable constraint 

B. columns used for filters 

C. distinct values 

D. columns used for joins 

E. table constraints 

Correct Answer: AB 

 

QUESTION 3

How can a user update statistics on a table? 

A. by running UPDATE STATISTICS 

B. by running a query against the table 

C. by running GENERATE STATISTICS 

D. by restarting the database 

Correct Answer: A 

 

QUESTION 4

When computing the row size for a table row, what overhead should be accounted for? 
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A. 48 bytes for ROWID, CREATEXID and DELETEXID only 

B. 32 bytes for ROWID. CREATEXID, DELETEXID and the null vector 

C. 32 bytes for ROWID. CREATEXID and DELETEXID and a variable number of bytes for the null vector if there are
nullable columns 

D. 24 bytes for ROWID. CREATEXID and DELETEXID plus null vector if there are nullable columns and record header
depending on string columns 

Correct Answer: A 

 

QUESTION 5

In IBM Netezza Performance Server, what storage file system is shared across the host containers? 

A. IBM Spectrum Scale or General Parallel File System (GPFS) 

B. NT File System (NTFS) 

C. Glusterfs 

D. 2 File System (ZFS) 

Correct Answer: B 

 

QUESTION 6

What happens to NFS mounts after a container failover? 

A. NFS is handled by Red Hat OpenShift and does not need to be mounted. 

B. Sysmgr will remount it as part of the IBM Netezza Performance Server environment 

C. A containers do not allow for NFS mounts. 

D. It will be automatically mounted by the ipsnfs service. 

Correct Answer: A 

 

QUESTION 7

When is a PRIMARY KEY (PK) table constraint evaluated during an INSERT statement into the table? 

A. The PK constraint is never checked when a row is inserted into the table. 

B. After the row is inserted into the table. 

C. Before the row is inserted into the table. 

D. The PK constraint is only checked during a GENERATE STATISTICS operation. 
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Correct Answer: C 

 

QUESTION 8

Which system view stores the information on how many resources have been allocated for the resource group versus
how many were allowed? 

A. _v_sched_gra 

B. _v_system_util 

C. _v_qryhist 

D. _v_plan_resource 

Correct Answer: D 

 

QUESTION 9

When choosing a distribution key for a large fact table, what is a valid choice? 

A. any column used in table constraints 

B. any column with low cardinality 

C. a technical or surrogate key 

D. any date column commonly used in queries 

Correct Answer: A 

 

QUESTION 10

Which log file provides a DBA with an actual SQL statement that was executed? 

A. clientmgr.log 

B. pg.log 

C. sysmgr.log 

D. dbos.log 

Correct Answer: C 
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